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Determine a, b, ¢, d from the graph and sub into the equation on the formula
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Prre=Caloulus 300
Determining an spestion from i graph.

1. What s the sguation of e cosine fmction below?

Frpape = Y= 2ca3(3x)

2. Whal is the equstion of the sine lundion below
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3. What is the cquation of the sine function below?
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4. Wha is the equstion of the cosine fimction helow 7
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5. Dietermine the equation of the praphs below in the form v = Aces Wz — () + 73
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6. Detemmine the squation of the grghs below in the form = Agn#(z - €)+ 13
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7. Determine the squetion of the grghs below in the frms
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